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Define the following in brief -

(i) Naksha Bartan (i) kabaza Kaast (i) Makfud ~ul- Khabri (iv) Revaz - 1i-Aam
(v) Naksha Muafiaat ~va-Pension, (HX4:20 Marks)
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(a) What kind of entries can be incorporated in the Revenue Record without attestation
of mutation ? (10 Marks)

@) wrora aifies o e oY uiafew Ren geeasta @ aedles @) on wesdt ® 2
(b) How are entries of undisputed interests made in the Revenue Records? (10 Marks)

@) aridafea sifdrest @) ufafeni wora afdw & Reor o a9 ol 27

(a) What records are included in the Records of Rights ? (10 Marks)
@) worem s 7 @re-2 F afddw enfrar @ 7
(b) How is an error in a mutation corrected after its attestation? (10 Marks)

(@) geamTal d¥llas & Giel @ JurE e utg Sy ov gresl gl dA @Y S

37
(a} What is a “Fard Badar” ? What is its procedure? (10 Marks)

() we~aar dar & 7 g uipan war 8 7
(b) What is a “Naksha Riwazaat Aabhpashi.? (10 Marks)

(zr) srare Rarsna siaorelt wr & 7
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What are the guideline of the Financial Commissioner regarding entries of disputed
rights in the Revenue Records ? (20 Marks)

qH W Rafka ufafedt & fva & Rargea @& @@ amgeer @ 7

(a) Write a brief note on the procedure for the partition of land ? (10 Marks)
@) #qfF & frarore a5 ufsam o1 Jfdra gofer w9 ?
(b) When does a question of title arise?

(&) Taaar o7 "ed e 3cuee ardar & 7
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| Departmental Kanungd Examination , January 2021
Paper No 2 Settlement Manual and Mensuration Max. Marks 100
Time: 3 Hours

Note: Question no 1 and 2 in Part-I are compulsory. Answer any 7 questions from
Part-II.

Part-I
Q1. Explain any 10 terms in one or two lines/diagrams? 1x10=10

Fard Tafrik bachh, Abadi Deh, Share-aam, Rafai-aam, Banjar Kadim, Avvi land, Kharkana
land, Momi, Mustkil Points, Ibdatai Padtal, Mal Swai, Khatauni Pamaish, Shajra nash of
adopted son with father, khudro drakhatan, Chahi Avval.

Q I1. Explain any 10 terms in two or three lines ? 2X10=20 -

Ehatauni, Un-cultivated Land , Traversing , Occupancy Tenant, Tatima, Galla-batai Hissa
Chaharam, fard Badar, Dhal Bachh, Parcha Jamindari, Land-owner, Mutation, Index Map,
Tabe Hakuk Bartan Bartandaran, Girdawari, Shamlat Deh Hasb Rasad Malgujari, Forcast

Report.
Part-1I

Q III. Differentiate between any five in three or four lines? 2X5=10

1) Permanent record and Periodical record

2) Vajib-ul-arj and Naksha Bartan

3) Bandobast Jadid and Bandobast Tarmim

4) Demarcated Protected Forest and Un-demarcated Protected Forest
5) Barani Avval and Barani Soyam

6) Reserve Jungle and Jungle

7) Khatauni and J amabandi

Q. IV. Write brief Notes 5+5=10

1) What types of entries are done and are not to be done in khatauni. Briefly write the

procedure?



2) How the area of following figures is calculated:
Rectangle with un-equal sides, Triangle with two equal sides.

V. i i
? Define N.Ia.hal /Revenue Estate? What is the basis to create a new Mahal/Revenue Estate?
Cite the provision of the relevant Act. 3+6+1=10

Q YI. What is base line and explain with figure? What are the precautions to be taken , while
fixing the base line? 545=10

QVII. What are objectives of Settlement Operations? Briefly write the steps only in points?
2+8=10

Q VIIl. What are the documents included in Record of Rights? With which documents, either the
presumption is truth is attached or not attached?  6+4=10

Q IX. What is the need to correct the shajra between two settlement operations ? How it is
done? Write in brief? : 10

Q X. Under Digital India Land Record Modernization Program (DILRMP), state briefly the
instruments being used in Modern Survey Techniques along with their functions? Differentiate
between Modern Survey and Conventional Survey Techniques briefly and in points? 5+5=10

Q XI. Write brief notes? : | 5+5=10

1) Briefly chalk out point wise the contents of good demarcation report ? who are the
competent authorities to carry out and pass final orders in demcarcation?
2) Which owners are recorded in shajra nasb (Pedigree Table)? Draw the signs and state

the colors used , in brief?

Q XII. Write brief notes? 545=10

1) How a field is measured? Explain the method to prepare shajra ( Map) along with

diagram? P
2) What is procedure to allot khasra number in tatima and its implementation in record of
rights after the partition/division of original khasra number? If after implementation ,
this khasra number is again divided/partitioned, in that case, What is procedurg to be

followed to allot khasra number and its implementation in record of rights?
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Paper No. 3; Mathamatics
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‘ 1. Atternpt any ten guestions.
Z,  Imternal choice is provided in question no. Vi and vII,

- Ma?ks allotted to each question are mentioned against the question.
4. ‘Widrks will be awarded only for complete and clear answer.

BT e 1
) e Al
(647" x (216)" x (81)¥"
; (512)"°x (16)¥* x (9)*/2
) T 3 R ,

(687 4 (237 | ’ (5’5 &%)

Question No. &

{a} Simpiify:
(647 x_ (2161 x (811
‘512)-1/3)‘ ‘16)1/4 X (9}'1/2

..;.contd;pége 2




{b) Evaluate:
(6-1_8-1)-1 o+ (2-1_3-1)-1

{5, 5 maris)

mmz:ﬁwmmm%m:

{a) ' (0.000064)"/¢
{b) '(o.s:m./o.saazs)”3 | - (5,5 37w)
Question No. It Evaluate followings: |
{a) (0.000069)%
(k) (0.512/0.3a3j%* - (5,5 marks)

ar) wét-ﬁﬁmmmmﬂmmzsoo ¥ mew Eﬁm%ﬁmﬂrmaﬁzﬁmmmw% o it
W%Iéﬁﬁﬁmaﬂm{@mﬁﬁﬁml '
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4 {4s7am)

uastion No. il

(a) The marked price of a T.V. is Rs. 32500, After alfowing a 20% Diwali discount o the custome ra

shopkeeper still makes 2 préﬁ.t’of 30%.Find the cost price of the T.V. - ' {6 rﬁarks)
{b} Meera bought an A.C. for Rs. 22,000 including a VAT of 10%. Find the price of AC. before VAT was
added. Ly {4 marks)

31) 1oo1as‘rmmgvm$m 3 w7 ¥ = R |
7). sieRE aﬁanur«;am% 1207444%730?{0@?%0?0%%;
W) W B I el W B s vt w0 0 Rl |  (B34sw

ai j; J}44 by fundamental theorem of anthmenc
{c} Write the H.C.F, of the smallest Compomte number and smallest prime number, ‘ '
7 fn _ {3, 3, 4 marks)
~Canid.page 3
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Question No.V

(5,5 @)

(a) Aladder 17m long, reaches at 2 window of a building 15m above the ground .Find the distance
of the foot of the ladder from the building.

(b) If HICF of 306 and 657 is 9, then find their LCM. {5,5marks)
T9H |E 6:
2 it @ e w1 AT 468 T Ao & oy T RET @1 o 24 Ao B A St T @ g T e

(10 &% )
apay

T% ARER Cd P Al wew B o ¥ 60 Ao i 2 | IRk wew 99 o Wt v qen @ 30 Mo alE §
o BT A oY T Aing | : (103??5).

Question Mo, Vi

'Sum‘ of the areas of two square is 468 square meter. If the difference of their perimeters is 24
méter, then find the sides of the two squares. | ‘ (10 marks)

Or

The diagonal of a rectangular field is 60m more than the shorter side. if the longer side is 30m more

than the shorter side, then find the sides of the field. | {16 marks)

%A HE 7 ,

e Sfi 3250 B BT H GHA & iqaau#fﬁrzomwmﬁm%@?ﬂws\rﬁﬁmsﬁmm%l

oy g % o R e T . (10 @i )
arerar '

T ga %WWMWH@ W 1 TeT FH T R 8
%arné’r aﬂ?%’{’rgﬁz%é‘ramkmaﬁmrm

E:m:ar e gﬁnﬂﬂﬁmﬂmmmﬁ%}tﬁ@ﬂﬂhaﬁﬁmﬁvﬁmw A G A
11 M/ﬁam%a’rﬁmzﬁmﬁvﬁ%%ﬁml N (10 afw )
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Quastion No. Vil

A man repays a loan of Rs. 3250 by Rs. 20 in the first month and then increases the payment by Rs. 15 Ly
- every month. How long will it take him to clear the loan? (10 marks) ¥

Or

An express train takes one hour less than a passenger train to trave! 132 km between Mysore and
Bengaluru (without taking into consideration the time , they stop at intermediate stations). if the

average speed of the express train is 11 km/h more than that of the passenger train, then find the
average speed of the two trains, {10 marks}

U e 8
T SR WSP W IS FIY §Y ST T o |wm‘(7§ﬁ)ﬂ%\%ﬁ§maﬁmﬁm%mmg—mmﬁ
| 98 9IS | 9591 T | SE AT N Sd By iy ok 99 oW W W R 18R e Y | @ § gred
f?rqégqaa@famwﬁéﬁmaﬁaﬁm | dErae S s o g & e el e 8

afy & @ wag % T O W O U 9 @ Er O D waE § A ar @ 9 el er B v § e e o
ol @A oiw @ wiE ¥ Frar wg o e SRR 5 @ wgg ¥ R o ) oiw SR ek 9o 9 e 9 e
mﬁqwmwﬁmlsﬁ?ﬁﬂa}wﬁmﬁaﬁmd@ﬁﬁmm%l

16‘:35‘\*?#@%#34%91?

ST WA stauReT ST TR SeRRee W B e B ST S

3 W % O B ERT B W AR qew ekl R v {7,2, 13%)

Question No. Vil A trader was maving along a road selling eggs. An idler, who did not have much
work to do, started to get the trader into a word duel. This grew into a fight; he pulled the basket with

eggs and dashed it on the floor. The eggs broke. The trader requested the panchayat to ask the idler to
pay for the broken eggs. The panchayat asked the trader how many eggs were broken. He gave the
following response. '

If counted in pairs, one will remain, If counted in 3's, two will remain. if counted in 4's, three wili remain,
If counted in 5's, four will remain. if counted in 6's, five will remain. if counted in 7's, nothing will remain

and my basket cannot accommodate more than 150 eggs.

(i) How many eggs were there?

(ii) Which mathematical concept is used to solve the above problem?

{iit) What is the value shown by the trader in the question? (7, 2, L marks)

..contd.page S
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Question No, IX

(@) A car travels 90 km in 2.5 hours (i) how much time Is required to cover 30 km with the same
speed? (ii} Find the distance covered in 2 hours with the same speed, {5 marks)

(b} Bob wants to cover the floor of a room 3m wide and 4m tong by squared tiles. if each sguare tile
fs of _sigle “S_dcm{then find the number of tiles required to cover the floor of the room. {5 marks)

T W 10

U W B ure e S da @, Rl s e & e 128 Hiew o 64 9o ¥ 78 o9 S W=
A A O R sifew SR @) Wi S Bree wEal 8, aen 9y & wRedt & fie wer T §1 39 TR

@ TR OE A Ho B TR e AR 39 B ¥ B W g weiia @ ¥y {10 30w )
Question No. X |

A Farmer has a field in the shape of a right angled triangle with perpendicular sides of lengths 128m
and 64m. He wants to leave a space in the form of syuare of largest size inside the field for growing
wheat and the remaining for growing vegetables. Find the length of the side of such a squared space.

What moral value is indicated from this action?

T T 11 |
&)  shegs T &g 7500 TR A vie vuw § e e W Aege @ 8 g o i 81wl

%)

{10 marks)

ﬁaﬁ$2mw§nmmﬁw%ﬁmér@w§vﬂaﬁ%a . (6 s%)

0.00059049 WT wiHe T BIRNG ? - (s @)

Question No. Xi

(a) The number of sheets of paper available for r;f}aking notehooks Is 7:500tf. Each sheet makes 8

a notebook. Each notebook contains";‘zna pages. How many notebooks can be made

- pages of ,
from the paper available? (2 marks)
(b) Find the square root of 0.00059049 . _ {4 marks)

..contd.page &
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WWMMzmm 16{%}m#a¥mm’rf&m oy AN GEd TRy amve % PR
Ry , (10 375)

Mr X went ShODnmg with a certain amount of money. He spent Rs. 10(%) on buying a
pen and Rs. 25(%) in food. He then gave the remaining Rs. 16(%) to his friend. Calculate
how much maney he initially had. (10 marks)

@ AR ) Wiy e TR JEATET AIST T | B
m;rvm m'fre %mm@f I FHS A

A wire of length.176 em is first bent into a square and then into a circle. Which one will
have more area? {10 marks)
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